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DIP(NS-S) ¢ 500mm L=23.014m
[&#1]
WHEM A NS-S 1 3 4
B BN ¢ 500 X 6m PN
1 (@6 =6)
[ENES N
3 BIAE G)E R R LD (11317 =11.317)
H )4 Z
BIHE B R LD (2.523) =2.523)
ZUE G
PN AT A 1 (@0.774 =0.774) 1
NS ¢ 500X 45° &
N TR A8 1 (@0.783 =0.783) 1
NS S $ 500X 22 1/2° 1l
PR 1 (@0.26 =0.26) 1
NSIE #k X & ¢ 500 1l
WA BEAE S G T 2 (@0.17 =0.34) 2
NS I 15 ¢ 500 GF:7.5K &
NI R GF-7.5k 1 (@0.79 =0.79) 1
NSIE 770 A& THEE | ¢ 500X 75 1]
P2l RFE+7.5K 1 (@0.53 =0.53) 1
V7 = AEEIgR | ¢ 500 &
SUS BN 4 AN vEy 2 2
77 AT ¢ 500 7.5k LSPH! il
R s 1 1
AL A—my7 @z | ¢ 75 RF-7.5K FCD ﬂﬁ]
RF-7.5K PN\ i fy A 1 1
RS (Ls—R) | ¢ 75X 150 FCD 1
W GF-RF 7.5kF 1 1
TR ¢ 75 X 3000 7N
Ny A& GF-RF 7.5kF 1 1
DIPV F V%% ® 75X 500 &
P 7 GE-RE 7.5kF 1 1
DIP7 J 4% ¢ 75 X 400 1l
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iﬁz = at B =
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4 b7 F I /N H # = H AT ¥ & R =T W&/ a—NE&S
SUS B,N ithéx AWy 5 5
7T VA ¢ 75 7.5k LSPHY il
N R BEammETe 3 (@0.068 =0.204) 3 3
NS A7 ¢ 500 1l
INYMAT AT 5 5 5
NSFE fiL VU2 | ¢ 500 1l
2 2 2
NS ki FHE k41 | o 500 i
1 (@0.145 =0.145) 1 1
AAMEEKIE) ¢ 500 i
VA R 1 1 1
FEEI 53R iy H=0.607m i
o Rm Mg |VUE 3.10 3.1 3.1
ke = % ® 200 m
M35 DP=4.54m 1 1 1
7S RIPEIN T 1 7 E0.89m HH
TR 42 7T + K 61.253 61.253 61.3
EHRT— W =50 i m
( 22.991 )X (0.53X3.14X1.5X4/6.0+1) 61.253
¢ 500 m
I SEN;E! 22.991 22.991 23.0
RS RS —N  [W=400 V207V m
7KiE 3 3 3
B~ — T — 1l
HEELEYR ¢ 45 1=3.0m 1.00 1.00 1
ALy R RAIE 4 Bt 1l
6.000 +11.317 +2.523 +0.783 +0.774 +0.260 +0.340 +0.790
[GEEH£E] DIP ¢ 500
+0.204 22.991
m
m
0.530 0.530
) Fp /8T R m
22.991 +0.530 =0.145) 23.666
DIP ¢ 50045 74L& m
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22.991 = 22.991 23.0 0.73
FEERE A BT T [B¥MR ¢ 500 m 31.3 m/H
3.00 FE®& +0.5 FE% +0.4 FEY% +0.36 FT = 4.26 4.3 0.09
FEERE MOA IR T [FEk ¢ 75 m 48.3 m/H
N AT EEI G TR 5 BIAL U HAER LY = 5 5 2.63
- ene TEM T INS ¢ 500 | 1.9 D/EI
Yy 5 = 5 5 0.40
NSIZAETHR T | ¢ 500 5 12,5 [/@
FAFETe 3 = 3 3 0.47
NS F T ¢ 500 M 6.4 H/H
TAHEER N 3 EHE +1 221/2° +1 45° 5 0.65
NSTEAKF T ¢ 500 A 7.7 HA/H
+2 ik +2 41 +1 FT -3 IAF -2 A = 5
1 = 1 1 0.32
FRE UL FpakE T [BEbk ¢ 500 pre 3.1 H/H
1 = 1 1 0.07
e IR E L Bt o 75 S 14.6 F&/H
2 AR i FH R kT iy = 2 2 0.31
FERR PP EmAE T T ¢ 500 47 A 6.4 O/H
JWWA 7.5K 2 = 2 2 0.28
75 Rk L ¢ 500 A 7.1 A/H
JWWA 7.5K 5 = 5 5 0.30
75T T ¢ 75 | 16.7 H/H
JERR T 1 = 1 1
fEFEWFEE T [RC ABFE & T
SRR A T 1 = 1 1
TERARMBET |ME3E i Pt
R4 B 61.300 = 61.300 61.3 0.11
R L () (0 2 | 500 X 6m m 555.6 m/H
22.991 = 22.991 23.0 0.09
R — N I(FROR) m 250.0 m/H
23.666 = 23.666 23.7 0.22
0= 4 U AY — |k Tk m 109.9 m/H
23.666 = 23.666 23.7 0.22
K= FL R -7 HETH T | ¢ 500 KEET—7° m 109.9 m/H
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Y260 A-A Y276.5 R
[T #H3&0)]
7.18 5.12 12.30 12 0.08
a7 — MY T | 15emPA T m 150.0 m/H
N I 5.36 3.18 8.54 9 0.04
a o) — MEERER L [15emPL T, BOAH nf 199.0 m2/H
71.45 288.98 437.11 42.36 839.90 840 11.35
AR I RDA T ()95 7 5Y) [BHO.45m3 m3 74.0 m3/H
L 15.68 12.51 28.19 30 0.91
FpRE B T BHO0.45m3 #v»° m3 33.0 m3/H
BERA L 69.57 291.90 432.55 41.91 835.93 820 24.85
P A B T BHO0.45m3 4o’ m3 33.0 m3/H
t=15cm 0.76 0.45 1.21 1 0.01
Kb R T RC40-0 m3 222.2 ni/H
FEMRAA DIDMEL 71.45 288.98 437.11 42.36 839.90 840
THDEH TR E ) |1.0kmEL T m3
GNRIE S 71.45 288.98 437.11 42.36 839.90 840
52 A CoALHR m3
W R+ -5.85 -35.35 —43.50 -4.21 -88.91 (90)
FHIA I b X — m3
(Li##0.45m3 -5.85 -35.35 -43.50 —4.21 -88.91 (90)
- whiEHR T 4t 7.5kmPLF m3
[Li##0.45m3 0.80 0.48 1.28 1
27— (k) ERE T |4t-5.9km LA T m3
R 2.01 1.19 3.20 3
a7 — N | t
Y-260 13.00 13
H—RL— Lt m
Y-260 13.00 13
H—KRL—/ViEIH m
23.7 m/ 44.13 H 0.54 44.13
&t m/ H
K%L DP=0.81m | L= 5.06m
[+ TWriEY260]) DIP(NS) ¢ 500
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5.06 + 1.06 X 2 = 7.18
a7 —MEEEY) B T | 15emPA T m
i 2 e | 15 3 Sk 5K e 1.06 X X 5.06 = 5.36
L) — MR T | 15emPl T, fBIAS m
14.12 X 5.06 = 71.45
HeMIRBIRGA T (i35 5159) |BHO.45m3 m3
w + ) X +
P AR B2 T BHO0.45m3 4o’
)
m3
BERA L (1112 - 0.2205 - 0.15 ) X 5.06 = 69.57
P A B T BHO0.45m3 #v»° m3
m3
t=15cm 0.15 X 5.06 = 0.76
BRI T RC40-0 m3
FEMAA DIDMEL 71.45 — 145
T HhE TR E ) |0.5kmEL T m3
BN E Y 71.45 = 71.45
% s Aico i m3
A i 71.45 —  69.57 / 0.9 = -5.85
THIA +ub m3
[Li##0.45m3 7145 —  69.57 / 0.9 = -5.85
T rbiEdE T 4t-5.6~7.5kmLL T m3
(Li##0.45m3 5.36 X 0.15 = 0.80
27— Bk A)E i T |4t-5.9km L T m3
0.80 X 2.5 t/m3 = 2.01
a7 — NV B |G t
0.53 2 X 3.14/4 = 0.2205
A $ 500mm%E i m2
ALt DP=3.67Tm | L= 6.94m
[+ ThrA-Al DIP(NS) ¢ 500
27— Ml T [15emPL T m
i 2 e 15 3% Sk SR M
= oY — MR T [15emBL T BAA o
41.64 X 6.94 =  288.98
AR I RDA T ()95 7 5Y) [BHO.45m3 m3
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b 2.48 0.2205 ) X 6.94 15.68
B R T BHO0.45m3 4o’ m3
BEHAL 42.06 X 6.94 291.90
B R T BHO0.45m3 4o’ m3
m3
t=15cm
FEAR B T RC40-0 m3
FebfEIA DID#EL | 288.98 288.98
T whE TR E ) |0.5kmEL T m3
BN E S 288.98 288.98
5 A CoMLER m3
AR TR 288.98 291.90 / 0.9 -35.35
FEIA T +#wb m3
[LIf£0.45m3 288.98 291.90 / 0.9 -35.35
TR T 4t-5.6~7.5kmLL T m3
[LIf%0.45m3
20 ) =TGR ER T |4t-5.9kmLL T m3
27— MY |G t
0.53 2 X 3.14/4 0.2205
A $ 500mm%E FH m2
R&f%E DP=4.36m | L= 11.70m
[+ TrmyY276.5] |DIPINS) ¢ 500
o 7Y — MY T [15cmPLl T m
it 5 A IR o SR A
L) — MR T | 15emPL T, fBIAS ni
37.36 X 11.70 437.11
FeERTA T (9% H0) | BHO.45m3 m3
Tib 1.29 0.2205 ) X 11.70 12.51

FEBELR T

BH0.45m3 #v
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m3
BERA+ 36.97 X 11.70 =  432.55
B R 1T BHO0.45m3 #v»°
m3
t=15cm
T bk R BE T RC40-0 m3
FetfEA DID#EL | 437.11 = 437.11
T biERR T(RiE ) [0.56kmEL T m3
N B 437.11 = 437.11
¥+ A TR m3
Rt TE 437.11 432.55 / 0.9 = -43.50
FEiA L +w m3
[LIF&0.45m3 437.11 432.55 / 0.9 = -43.50
+-wbiEHR T 4t-5.6~7.5kmLL F m3
(Li##0.45m3
27— Bk A)E R T |4t-5.9km L T m3
aL ) — MRS |G t
0.53 2 X 3.14/4 = 0.2205
A $ 500mm%E Fi m2
R L= 3.00m
[+ T Y260) DIP(NS) ¢ 500
3.00 1.06 X 2 = 5.12
27— MliZEGMr T [15emPL T m
s s M | B S S 1.06 X 3.00 = 3.18
a o) — MEEREF L [15emPL T BOAR nt
14.12 X 3.00 = 42.36
AR I RDA T (895 15Y) [BHO0.45m3 m3
122 ) X
P A B T BHO0.45m3 #v»°
)

m3
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BESA T (14.12 - 0.15 41.91

B R T BHO0.45m3 4o’ m3

m3
t=15cm 0.15 3.00 0.45

BRI T RC40-0 m3
FEMRGA DIDMEL | 42.36 42.36

T HhE TR E ) |0.5kmEL T m3
B E 42.36 42.36

5 A CoMLER m3
42.36 4191 / 0.9 -4.21

FHIA T +Hb m3
[Li#£0.45m3 42.36 4191 / 0.9 -4.21

DT 4t-5.6~7.5kmPL F m3
[Li£0.45m3 3.18 0.15 0.48

27— Bk )i T |4t-5.9km LA T m3
0.48 2.5 t/m3 1.19

a7 )— MR

B
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DIP(NS-S) ¢ 500mm 6.000 m/A
=] £t fits
A %fmizﬂﬁ %fj;% szt | oo | wew | meEs
1 4.500 1.340 5.840 2 0.160
2 5.305 5.305 1 0.695
3 1.512 1.183 2.695 2 3.305
4
5
6
7
8
9
10
11
12
13
14
15
16
17
18
19
| woEas| covEak| TOEER | COBER| W CGOEER | GFEDY | oy
" IA 11.317m 2.523m 13.840m 50 4.160m
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4 PN IR N 7 B = B {7 OB |HE/a-IEE
KBRS ~ 150
[HfhrE g (B B)]
23.666 / 500 = 0.047 0.05
KB T BERR A Lol A 5397
23.666 = 23.666
DIP ¢ 500 m
= 23.666
% m




